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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  Reinforcements commanded by Joe Johnston never arrived, sealing the doom of the garrison commanded by John Pemberton. Pemberton thought if he surrendered on July 4, he would get better terms from Ulysses S. Grant. On July 4, 1863, Pemberton surrendered -- what city on the Mississippi to the Federals, cutting the Confederacy in two?

ANSWER: Vicksburg
2.  THIS IS A COMPUTATION QUESTION. In lowest terms, what is the fraction 988 / 1729? 

ANSWER: 4/7 (988 is divisible by 4, so divide 988 by 4, getting 247, then divide 1729 by 247, getting 7.)

3.  It was the last novel to be published during the life of its author. What is Herman Melville novel, which shares its name with the two words used to describe a man who swindles others after gaining their trust?

ANSWER: The Confidence Man (do not accept “con man”)

4.  In a freshwater biome, this zone might extend for only a few yards, but in an ocean it extends to the end of the continental shelf. What is this adjective that describes the region adjacent to the shoreline of a body of water?

ANSWER: littoral zone

5.  This New Age belief uses substances such as tea tree oil, lavender oil and rose oil. What is this "new age" form of medicine that focuses on the healing properties of these oils, especially their odors?

ANSWER: aromatherapy
6.  The highest-rated player ever on the ELO system, in May 1997 he lost a six-game rematch, 3 ½ to 2 ½, to the computer known as Deep Blue. Name this former world chess champion. 

ANSWER: Garry Kasparov
7.
How many total protons are in all the nuclei in a single methyl functional group?

ANSWER: nine (a methyl functional group is CH3, so nine protons)
8.
Taking their name from a popular minstrel show character, the first of these may have been the laws that applied to railroads in New Orleans. What name was given to these laws, passed in the 1890s and 1900s, that tried to reinstate the racial segregation of the 1860s Black Codes?

ANSWER: Jim Crow laws

9.  In this work, subtitled A Record of Childhood and Youth, the author tells his story of growing up in the Jim Crow South during the early decades of the 20th century but the story reads like a novel. What is this work by Richard Wright?

ANSWER: Black Boy
10.  Michael Capellas is this company's current CEO. John Sidgmore was named the CEO of this company after it imploded. Clinton, Mississippi, was the headquarters of what company now headquartered in Ashburn, Virginia, where its two top executives were Scott Sullivan and Bernard Ebbers?

ANSWER: MCI or Worldcom or MCI Worldcom
11.  Among his inventions were a device for locating metal masses in a human body and the tetrahedral kite. He was also involved with inventing the wax cylinders used in early phonographs. A device for the transmission of sound via light was invented in 1880 by what inventor of the telephone?

ANSWER: Alexander Graham Bell
12.  Identify the gerund phrase in the following sentence: Opening the door at seven o'clock every morning is my job.

ANSWER: Opening the door at seven o'clock every morning
13.
In Edgar Allan Poe's short story, "The Purloined Letter," after a French cabinet minister steals a letter from an aristocratic woman and blackmails her, what detective comes to her rescue by producing the letter?

ANSWER: C. Auguste (oh-GOOST) Dupin (doo-PAN)  

14. 
When a cell isn’t undergoing mitosis, the DNA is spread out and has a grainy appearance. Name this “active” form of DNA that eventually condenses into chromosomes.

ANSWER: chromatin
15.  Ferdinand Lemaire composed the libretto to this three-act opera that premiered in 1877.  Originally intended as an oratorio, Franz Liszt encouraged its composer Camille Saint-Saens [san-sah-ON] to covert it into a full-length Biblical opera.  What is this opera taken from the Book of Judges, where the second title character, a Philistine, cuts off the hair of the first title character?

ANSWER: Samson and Delilah or Samson et Dalila

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
What are the cells known as nematocysts used for?

ANSWER: stinging prey or paralyzing prey

1B.
What office of the Roman Republic was established in 494 BC and was meant to protect the plebeians of Rome?

ANSWER: tribune of the people or tribunis plebis
2A.
In Antigone (an-TIG-o-nee), which character at first is afraid to risk the wrath of her uncle and the state to help her sister bury their slain brother?

ANSWER: Ismene (iz-mee-nee)

2B.
THIS IS A COMPUTATION QUESTION. What is the area of an equilateral triangle with sides equal to 3?

ANSWER: 9/4 * SQRT(3) (nine-fourth times the square root of three) (the formula for the area of an equilateral triangle is (s^2 * SQRT(3)) / 4)

3A.
Which elderly woman did Jessica Tandy portray in her Best Actress Oscar performance in 1989?

ANSWER: (Miss) Daisy Werthan (accept Driving Miss Daisy)

3B.
The Headless Horseman, who frightened Ichabod Crane in Irving's “The Legend of Sleepy Hollow”, was actually a hoax created by what other character in the story?

ANSWER: Brom Bones (prompt on just one name)

4A.
What nickname has been given to Edward, the oldest son of Edward III of England, who won the battles of Crecy [KRAY-see] and Poitiers [PWAH-tee-ay] during the Hundred Years' War?

ANSWER: Edward the Black Prince
4B.
What type of precipitation starts out as snow, then partially melts on the way down, but refreezes into small ice crystals shortly before impact?

ANSWER: sleet (do not accept hail, which freezes within a cloud, and do not accept freezing rain, which completely melts on the way down.)

5A. 
THIS IS A COMPUTATION QUESTION. If savings account rates are currently at 2.5% per year, how much money would you need in the bank to make $500 a month over a yearlong period?

ANSWER: $240,000
5B.
Nabisco and Kraft are owned by -- what company whose Philip Morris Group is headquartered in Richmond?

ANSWER: Altria
6A.
What acid is used to remove objectionable colors from gasoline, as a dehydrating agent in making explosives and dyes, or as an electrolyte in lead storage batteries?

ANSWER: sulfuric acid or H2SO4
6B.
From the Latin for fever, what adjective is used today to mean related to or characterized by fever?

ANSWER: febrile (accept febrific)

7A. 
THIS IS A COMPUTATION QUESTION. If the letters are assigned values A = 1, B = 2 and so on up to Z = 26, what number do you get by multiplying the values of the letters in the word “lance”?

ANSWER: 2520 (12 * 1 * 14 * 3 * 5)

7B.
This British scientist, one of the founders of physical chemistry, studied colloids and their separation by dialysis. Name this chemist whose namesake law says the diffusion rate of gases is inversely proportional to the square roots of their molar masses.

ANSWER: Thomas Graham
8A.
Who was the last President of the Second Bank of the United States, best known for his frequent clashes with President Andrew Jackson?

ANSWER: Nicholas Biddle
8B. THIS IS A COMPUTATION QUESTION. What is the complex binomial -5 plus 5i, divided by the complex binomial -6 + 9i, expressed in standard form using reduced fractions? Remember using the conjugate of the denominator solves this.

ANSWER: 25/39 + 5i/39 or (25 + 5i) / 39 (accept 5/39 i in place of 5i/39) (multiply both terms by -6 - 9i, --> (-5 + 5i) (-6 - 9i) / (-6 + 9i) (-6 - 9i) --> (30 + 45i - 30i - 45i^2) / (36 - 81i^2) --> (75 + 15i) / (117) --> reduces to (25 + 5i) / 39)

9A.
Identify the theological treatise written in the 13th century by Thomas Aquinas that organizes the thought of Aristotle along Christian lines. 

ANSWER: Summa Theologica
9B.
What political philosophy with a very long name described the movement opposed to removing the Church of England from its official status?

ANSWER: anti-dis-es-tab-lish-men-tar-i-an-is-m
10A.
The Greek gods drank which beverage prepared from honey, the liquid counterpart to ambrosia?

ANSWER: nectar
10B.
Marine bandleader John Philip Sousa composed a march in 1889 to honor essay contest winners in which national newspaper?

ANSWER: The Washington Post
Third period, 15 toss-ups, worth 10 points
1.  What four-letter word can refer to the usual food and drink or a person, a special restriction of caloric intake, or the legislature of Japan?

ANSWER: diet
2. 
What word is missing from the following categories? Kingdom, phylum, class, family, genus, species.

ANSWER: order (do not accept division, which is phylum within plants)

3.  It was formed in 1776 from Fincastle County. In 1786, Russell County was split off from it. In 1814, Scott County was split off. In 1832, Smyth County was split off. What is this Virginia county that surrounds the Virginia part of Bristol?

ANSWER: Washington County

4.  What theorem defines the evaluation of a definite integral, or, if G is the antiderivative of f, states that the integral from a to b of f of x dx {dee-ex} equals G of b minus G of a? {a|b f(x) dx = G(b) - G(a)

ANSWER: (first) Fundamental Theorem of (the) Calculus (prompt on partial answers)

5.  U.S. District Judge Robert Sweet dismissed the lawsuit against this company in 2003, saying it failed to link the plaintiff's health problems directly to the company's food. However, a 2004 appeal court ruled that an anti-obesity lawsuit could proceed against -- what company famous for its "Big Macs"?

ANSWER: McDonald's
6.  Sir Francis Bacon wrote a novel about a utopian society, situated on an imaginary Pacific Island. What was this novel, named for a "new" version of an island first described by Plato?

ANSWER: The New Atlantis
7.  The First of these was the Holy Roman Empire, which lasted from 843 to 1806. The Second of these was the German Empire, which lasted from 1871 until 1918. What is this word most often associated with its Third incarnation, the Nazi regime?

ANSWER: Reich [RIKE]

8.  Most of it is desert, but there are towns such as Taba, el-Arish [el-AH-rish] and Sharm el-Sheikh [SHAHRM el-SHAYK] on it. What is this peninsula located between Israel and the Suez Canal?

ANSWER: Sinai Peninsula

9.  In kelvins and millimeters of mercury, and rounded to the nearest whole number, what are the two standard conditions in standard temperature and pressure? 

ANSWER: 273 Kelvin and 760 mm Hg (prompt if units are not given with each number)

10.  In the video to this single, the artist plays a variety of characters, including an awkward blonde with glasses, a DJ with a blonde afro, and a table dancer.  A saxophone provides the infectious hook to the song, which begins with the line, "You're lookin' just a little too hard at me."  What is this 2005 single, the first off the album Rebirth by Jennifer Lopez?

ANSWER: "Get Right"
11.  The short-term variety of these is taxed at normal income rates and applies if something is held for less than a year before selling. The first $250,000 of these from selling a primary home is often tax-exempt. What is this term to describe the profit made from selling something?

ANSWER: capital gains

12.  Most holders of this religious title teach in hawza [HOH-zah], or Islamic schools, and studied in either Najaf [nah-JAFF] in Iraq or Qom [KOAM] in Iran. What Shi'ite religious title means "sign of God", and is usually associated with the theocracy in Iran?

ANSWER: ayatollahs [eye-uh-TOLL-uhs]

13. 
What are the three classes of adult individual in honeybee colonies?

ANSWER: drones, workers, and queens
14.  Despite its name, the people who speak it are not from the Netherlands. What is the technically incorrect name given to this dialect of German spoken by people in the central part of the Keystone State?

ANSWER: Pennsylvania Dutch (Dutch is a corruption of Deutch [DOYCH], the German word for German.)

15.  One has to feel bad for the single human figure at the center of the painting.  Not only does a tornado threaten on the horizon in the top right; he also has to deal with a ring of sharks surrounding his boat that has lost its mast.  What is this 1899 painting by Winslow Homer featuring an African-American sailor troubled at sea?

ANSWER: The Gulf Stream
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1. THIS IS A COMPUTATION QUESTION. f of x equals five plus the squared binomial x minus three {f(x) = 5 + (x-3)2}. Over the reals, what is the domain of this function? 

ANSWER: x is an element of the reals (accept all real numbers)

2.  "Burnt Norton," "East Coker," "The Dry Salvages" and "Little Gidding" make up what work, considered to be the last masterpiece of T.S. Eliot?

ANSWER: Four Quartets
3.  He had an uncredited role as Gabe in 1990's Jacob's Ladder.  At seven years old he made his debut in Rocket Gibraltar, and the following year he stole a scene from John Candy in Uncle Buck.  Co-star of the Michael Jackson video "Black or White", what former child actor made millions as Kevin McAllister in the first two Home Alone movies?

ANSWER: Macaulay Culkin (prompt on “Culkin”)

4.  This city fell when its Kerkoporta [kair-koh-POR-tah] gate was accidentally left unlocked. Constantine XI himself led the final defense and died in the streets on Tuesday, May 29, 1453. Ottoman Sultan Mehmet II (the Conqueror) was thus able to capture -- what city, the capital of the Byzantine Empire?

ANSWER: Constantinople (not Istanbul)

5.   One over lambda equals R times the quantity (one over two squared minus one over n squared) describes what series of lines in a line spectrum of hydrogen?

ANSWER: Balmer series
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